
Use Player #1 Use Player #2 Use Player #3 Use Player #4 
Highest Scr minus 

Lowest Scr
Player #1 plus 

Player #4
Player #2 plus 

Player #3
Highest Scr plus 

Lowest Scr
Take a score of 

Zero
Add all scores 

together
Multiply Lowest 

Scr times 2 
Take Lowest Scr 

plus 2

Use Player #1 Use Player #2 Take Lowest Scr Take Highest Scr
Take Highest Scr 

minus 3
Take Lowest Scr 

Use Player #1 Use Player #2 Use Player #3 Use Player #4 
Highest Scr minus 

Lowest Scr
Player #1 plus 

Player #4
Player #2 plus 
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Highest Scr plus 

Lowest Scr
Take a score of 

Zero
Add all scores 

together
Multiply Lowest 

Scr times 2 
Take Lowest Scr 

plus 2

Use Player #1 Use Player #2 Take Lowest Scr Take Highest Scr
Take Highest Scr 
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Take Lowest Scr 
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Highest Scr minus 

Lowest Scr
Player #1 plus 

Player #4
Player #2 plus 
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Highest Scr plus 

Lowest Scr
Take a score of 

Zero
Add all scores 

together
Multiply Lowest 

Scr times 2 
Take Lowest Scr 

plus 2

Use Player #1 Use Player #2 Take Lowest Scr Take Highest Scr
Take Highest Scr 

minus 3
Take Lowest Scr 

Use Player #1 Use Player #2 Use Player #3 Use Player #4 
Highest Scr minus 

Lowest Scr
Player #1 plus 

Player #4
Player #2 plus 

Player #3
Highest Scr plus 

Lowest Scr
Take a score of 

Zero
Add all scores 

together
Multiply Lowest 

Scr times 2 
Take Lowest Scr 

plus 2

Use Player #1 Use Player #2 Take Lowest Scr Take Highest Scr
Take Highest Scr 

minus 3
Take Lowest Scr 


